

About a Result of Tiberiu Popoviciu

IOAN GAVREA

Using a result obtained by Tiberiu Popoviciu on functionals with degree of exactness n , where n is a natural number, we establish new forms for the remainder of some quadrature formulas.

1. Introduction

Let A be a linear functional defined on a subspace S , $S \subset C[a, b]$. We suppose that $\pi \subset S$, where π is the set of all real algebraic polynomial. Denote by e_i , $i = 0, 1, \dots$, the function defined by

$$e_i(x) =: x^i, \quad x \in [a, b].$$

The functional A has degree of exactness -1 if $A(e_0) \neq 0$. The functional A has degree of exactness n , where n is a natural number, if:

$$A(e_i) = 0, \quad i = 0, 1, \dots, n, \quad A(e_{n+1}) \neq 0.$$

We say that the functional A has degree of exactness $+\infty$ if $A(e_i) = 0$, $i = 0, 1, 2, \dots$. In what follows we will consider linear functionals of the form

$$A(f) = \sum_{i=1}^p \sum_{j=0}^{k_i-1} a_{i,j} f^{(j)}(z_i) \quad (1)$$

where p, k_1, k_2, \dots, k_p are natural numbers, z_i , $i = 1, 2, \dots, p$, are p distinct points in the interval $[a, b]$, $a_{i,j}$, $j = 0, 1, \dots, k_i-1$, $i = 1, 2, \dots, p$, are constants independent of the function f .

Let us set

$$m := k_1 + \dots + k_p.$$

In [3] Popoviciu proved the following results:

Theorem 1 (T. Popoviciu). *The degree of exactness of the functional (1) is at most $m - 2$.*

If the functional A has degree of exactness n , $n \leq m - 2$, then

$$A(f) = \sum_{i=n+1}^{m-1} a_i [x_1, x_2, \dots, x_{i+1}; f] \quad (2)$$

where

$$x_{k_1+k_2+\dots+k_{i-1}+r} = z_i,$$

$r = 1, 2, \dots, k_i$, $i = 1, 2, \dots, p$ ($k_0 = 0$), and $[x_1, x_2, \dots, x_m; f]$ is the divided difference of the function f at the points x_1, x_2, \dots, x_m and the coefficients a_i , $i = n + 1, \dots, m - 1$, do not depend on the function f .

If the functional A has degree of exactness $m - 2$, then from (2) we obtain

$$A(f) = a_{m-1} \underbrace{[z_1, \dots, z_1]}_{k_1} \underbrace{[z_2, \dots, z_2]}_{k_2} \dots \underbrace{[z_p, \dots, z_p]}_{k_p}; f \quad (3)$$

where $a_{m-1} = A(e_{m-1})$.

In the following we denote by $[z_1^{(k_1)}, \dots, z_p^{(k_p)}; f]$ the divided difference $\underbrace{[z_1, \dots, z_1]}_{k_1}, \dots, \underbrace{[z_p, \dots, z_p]}_{k_p}; f$. Then equality (3) can be rewritten as

$$A(f) = A(e_{m-1}) [z_1^{(k_1)}, \dots, z_p^{(k_p)}; f].$$

In this paper, using the results from Theorem 1 we establish new forms for the remainder of some classical quadrature formulas.

2. Gauss Quadrature Formula

Let us consider the Gauss quadrature formula

$$\int_{-1}^1 f(x) dx = \sum_{k=1}^n A_k f(x_k) + R(f) \quad (4)$$

where x_k , $k = 1, 2, \dots, n$, are the zeros of the Legendre polynomial P_n .

In this case we have

$$R(e_i) = 0, \quad i = 0, 1, \dots, 2n - 1.$$

Theorem 2. *If $f : [-1, 1] \rightarrow \mathbb{R}$ is absolutely continuous on $[-1, 1]$, then the Gauss quadrature formula (4) can be written in the form*

$$\int_{-1}^1 f(t) dt = \sum_{k=1}^n A_k f(x_k) + k[-1, x_1^{(2)}, \dots, x_n^{(2)}, 1; F], \quad (5)$$

where

$$F(x) = \int_{-1}^x f(t) dt$$

and

$$K = \frac{2^{2n+1}}{\binom{2n}{n}^2}.$$

Proof. Let us consider the linear functional

$$A(f) = F(1) - F(-1) - \sum_{k=1}^n A_k F'(x_k). \quad (6)$$

We have

$$A(e_i) = 1 - (-1)^i - i \sum_{k=1}^n A_k x_k^{i-1}. \quad (7)$$

But

$$\sum_{k=1}^n A_k x_k^{i-1} = \frac{1 - (-1)^i}{i}, \quad i = 1, \dots, 2n, \quad (8)$$

and

$$A(e_0) = 0. \quad (9)$$

From (7), (8) and (9) we deduce that the functional A has degree of exactness $2n$.

The number m is equal to $2n + 2$. By Theorem 1 we get

$$A(F) = A(e_{2n+1})[-1, x_1^{(2)}, \dots, x_n^{(2)}, 1; F].$$

On the other hand, we have

$$A(e_{2n+1}) = A(P) \quad (10)$$

where $P(x) = (x + 1)(x - x_1)^2 \dots (x - x_n)^2$. From (6) and (10) we get

$$A(e_{2n+1}) = P(1) = \frac{2^{2n+1}}{\binom{2n}{n}^2}.$$

Now, for $F(x) = \int_{-1}^x f(t) dt$ we obtain equality (5). \square

Remark 1. Theorem 2 was proved by Popoviciu [3] and by Lupas and Constantinescu [1] in a different way.

3. Lobatto's Quadrature Formula

If x_i , $i = 1, \dots, n$, are the zeros of the Jacobi polynomial $P_n^{(1,1)}$ of degree n , then the interpolatory quadrature formula

$$\int_{-1}^1 f(x) dx = \frac{2}{(n+1)(n+2)} [f(-1) + f(1)] + \sum_{i=1}^n A_i f(x_i) + R(f) \quad (11)$$

is called Lobatto's quadrature formula [2]. It is well-known that

$$R(e_i) = 0, \quad i = 0, 1, \dots, 2n+1. \quad (12)$$

A representation of the remainder of the quadrature formula (11) is given in the following theorem.

Theorem 3. *If $f : [-1, 1] \rightarrow \mathbb{R}$ is absolutely continuous on $[-1, 1]$ then the remainder $R(f)$ of Lobatto's quadrature (11) can be written as*

$$F(f) = K[-1, -1, x_1^{(2)}, \dots, x_n^{(2)}, 1, 1; F]$$

where

$$F(x) = \int_{-1}^x f(t) dt$$

and

$$K = -\frac{2^{2n+3} n! [(n+1)!]^2 (n+2)!}{[(2n+2)!]^2}.$$

Proof. We consider the following linear functional

$$A(F) = F(1) - F(-1) - \alpha(F'(1) + F'(-1)) - \sum_{i=1}^n A_i F'(x_i) \quad (13)$$

where $\alpha = \frac{2}{(n+1)(n+2)}$. We have

$$A(e_0) = 0, \quad (14)$$

and from (12) we obtain

$$A(e_i) = 0, \quad i = 1, 2, \dots, 2n+2. \quad (15)$$

From (14) and (15) we conclude that the degree of exactness of the functional A is $2n+2$ and the number m from Theorem 1 is $2n+4$. Applying the result from the theorem of T. Popoviciu we have the following representation:

$$A(F) = A(e_{n+3})[-1, -1, x_1^{(2)}, \dots, x_n^{(2)}, 1, 1; F]. \quad (16)$$

On the other hand, we have

$$A(e_{n+3}) = A(Q)$$

where $Q = (x-1)(x+1)^2(x-x_1)^2 \dots (x-x_n)^2$. From (13) we get

$$A(Q) = -\alpha 2^2 (1-x_1)^2 \dots (1-x_n)^2. \quad (17)$$

Since

$$(1-x_1)^2 \dots (1-x_n)^2 = \frac{2^{2n} n! [(n+1)!]^2}{[(2n+2)!]^2}, \quad (18)$$

from (18), (17) and (16) we obtain

$$A(F) = -\frac{2^{2n+3} n! [(n+1)!]^2 (n+2)!}{[(2n+2)!]^2}. \quad (19)$$

Finally we choose $F(x) = \int_{-1}^x f(t) dt$ in (19) and the proof of the theorem is completed. \square

4. Turan's Quadrature Formula

We consider the interpolatory quadrature formula

$$\int_{-1}^1 f(x) dx = \sum_{k=0}^{2s} \sum_{i=0}^n A_{k,i} f^{(k)}(x_i) + R(f) \quad (20)$$

where $f \in C_{[-1,1]}^{2s}$.

The linear functional R in (20) has degree of exactness at most $(2s+2)n$ (see, for example, [2]).

If x_i , $i = 1, 2, \dots, n$, are the zeros of the s -orthogonal polynomial $P_{s,n}$ ([2]), then R has degree of exactness $n(2s+2)$. In this case the quadrature formula is called Turan's quadrature formula.

Theorem 4. *Let $f \in C^{2s}[-1, 1]$. Turan's quadrature formula can be written in the following form:*

$$\int_{-1}^1 f(x) dx = \sum_{k=0}^{2s} \sum_{i=1}^n A_{k,i} f^{(k)}(x_i) + K[-1, x_1^{(2s+2)}, \dots, x_n^{(2s+2)}, 1; F]$$

where

$$F(x) = \int_{-1}^x f(t) dt$$

and

$$K = 2(1-x_1)^{2s+2} \dots (1-x_n)^{2s+2}.$$

Proof. We consider the linear functional A defined by

$$A(F) = F(1) - F(-1) - \sum_{k=0}^{2s} \sum_{i=0}^n A_{k,i} F^{(k+1)}(x_i). \quad (21)$$

We have

$$A(e_0) = 0, \quad A(e_i) = 0, \quad i = 1, 2, \dots, (2s+2)n.$$

It follows that the degree of exactness of the functional A defined by (21) is $(2s+2)n$. We note that

$$m = (2s+2)n + 2.$$

From Theorem 1 we have

$$A(F) = A(e_{(2s+2)n+1})[-1, x_1^{(2s+2)}, \dots, x_n^{(2s+2)}, 1; F]. \quad (22)$$

On the other hand,

$$A(e_{(2s+2)n+1}) = A(T) \quad (23)$$

where

$$T(x) = (x+1)(x-x_1)^{(2s+2)} \dots (x-x_n)^{(2s+2)}.$$

From (21) we get

$$A(T) = 2(1-x_1)^{(2s+2)} \dots (1-x_n)^{(2s+2)}. \quad (24)$$

We choose $F(x) = \int_{-1}^x f(t) dt$ in (22) and our assertion follows from (23) and (24). \square

References

- [1] E. CONSTANTINESCU AND A. LUPAS, On classical quadratures of Gauss type, "Proc. RoGer 2004", to appear.
- [2] A. GHIZZETTI AND A. OSSICINI, "Quadrature Formulae", Akademie-Verlag, Berlin, 1970.
- [3] TIBERIU POPOVICIU, Notes sur les fonctions convexes d'ordre supérieur (IV), *Disquisitiones Math. et Physicae* (1940), 163–171.

IOAN GAVREA

Department of Mathematics

Technical University of Cluj-Napoca

Str. C. Daicoviciu 15

400020 Cluj-Napoca

ROMANIA

E-mail: ioan.gavrea@math.utcluj.ro